ARREZZICHTIBAENE (B EEFAEBLFTMILEME R 7—3
1. SEFEICAEEEHISADAEEITIME (RH)
IR¥EEE .. o e | g | R RH FEH(me/L) SO 2% (mg/L) AE(mg/L)
No| casEm |LEEZ|IBSER @EEL BRET WH% amie | a7 |7om | 08 |BoRE | EPER mew | PNCTEY | mameen | U | BimtE | SO0URES | mtrmem | noec/ur | mfemiem | FOSUDES | igtemteE | Noec/UR | mirmtem | LOTUHES | i@temiEE | NOEO/UF |
= = 95 ™ (A) (B) (EC50) 1#) (NOEC) (FEREsME) (EC50) ) (NOEC) (FEREME) (LC50) 1#) (NOEC) (FERsME)
1(75-15-0 1 ZEHibRE # 1 3 - =) 0.00068 0.068 100| 1.2 0.068 0.0068 0.33 0.033 38 0.038
2[110-54-3 3 n—~¥H4y B 1 4 4 = 0.00025 25 10000 3.88 0.0388 25 0.0025
3(8007-45-2 162 a—LE—L %8‘—‘71 1 3 - = 0.000043 043 10000 0.18 0.0018 0.43 0.00043
4{75-21-8 19 IFLUEFUR B 2 3 3 & 0.0084 84 10000 212 2.12 84 0.084
5(108-88-3 46 MLTY B 2 3 3 ] 0.0058 5.8 1000| 44.1 125 25 413 1 0.2 58 0.058
6[100-41-4 50 IFLRUEY B 2 3 3 = 0.0042 42 1000| 46 34 0.34 1.81 0.181 42 0.042
7|7651-02-7 153 5:[13__;;“1/'] ’7\‘(7:;;([/7-7);:5/ 7ass %8‘—‘71 TIVEE 2 2 - = 0.0014 0.071 50| 0.14 0.071 0.0142] 0.381 0.2 0.04
8|75-59-2 17 FRIAFILTUEZYL=EFBXIFR |B 1 4 5 th 0.0006 0.03 50) 96 6.3 1.26) 3 0.03 0.006 462 462
9(78-79-5 5 1UFLy - 2 4 - th 0.0074 7.43 1000| 35.2 6 1.2) 5.77 0.402 0.0804 7.43 0.0743
10 156 LI =)L (£K) =3 2 4 5 th 0.010 052 50 é‘;’g G;g (%) () (()ps—z) . ﬂ"&i y (p:3 ép{i
11(74-87-3 6 o00A8Y (Rl BARIEAFIL) # 3 4 - h 0.09 900 10000| 200 2 900 0.9
12|107-06-2 1 1, 2—o/0014Y # 3 3 - th 0.10 1.02 10 230 55 55 99.4 1.02 1.02 118 29 29)
13|75-01-4 13 yonTFLY - 3 3 - th 0.021 210 10000) 210 0.21
14|74-89-5 15 AFIVTEY # TV 3 3 - h 0.070 702 10000) 702 0.702
15|124-40-3 16 CAFILTIV B TIUEE 3 3 3 h 0.017 17|1000 6.2 0.31 50 05 17 0.17
16|75-56-9 20 é:l/z;)lrﬁ*:’jm’b (GlaRETn B 3 4 4 th 0.052 52 1000) 240 100 10 350 35 52 0.52
17/50-00-0 25 RILLTILTER B 3 3 4 h 0.024 4.89 200 4.89 0.245 14.6 1.46 100 1
18|108-05-4 28 {3 (== B 3 4 4 th 0.02 0.205 10 89 0.205 0.205 9.22 0.317 0.317 2.39 0.55 0.55|
19|71-43-2 45 oty B 3 3 3 h 0.016 0.8 50 28 8.3 1.66 10 1 59 0.8 0.16|
20(71-36-3 124 1=J5/—)L B 3 4 4 th 0.082 41 50 225 180 36| 1328 4.1 0.82] 1376 13.8
21{67-63-0 102 igi’}l’j"’:‘_”’ AVTRELT | 4 3 3 h 06 30 s0[> 1000 1000 200 2285 30 o 9640 96.4
22(75-07-0 26 TEr7ILTER B 3 4 5 & 0018 1.86 100 258 1.86 0.186 297 297 30.8 0.308
23[111-87-5 103 *Ho/y—1—F—)L B 3 4 5 & 0.012 12.2 1000| 14 4.2 0.84 26 1 0.2 122 0.122
24(75-09-2 160 7 sonnray (RBEIEAFLY) # 4 4 - & 027 27 100[> 662> 33.1 27 27 193 825 8.25
25(75-52-5 18 NP - 4 5 - & 0.18 36 200) 36 1.8 450 45 > 659.2(> 6.59
26(107-22-2 112 TERHLTLTERTUFFH—IL) |B 4 4 4 & 0.31 3.19 100> 100 250 250 162 3.19 319> 200 112 112
27(95-53-4 57 o—MILATY (B4 2-AFIILT =) |8 TV 1 5 - 5 0.00025 0.0126 50 11 6.4 1.28| 156 0.0126 0.00252| 151 1.51
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IBfEEE & | ARHL B (me/L) SO (mg/L) B F(me/L)
- B EL | ERATR - =3 B | s EORE = 5 2
No| case |LiHAZ) MR BEALIERET mH% am | Bo7 |7om | G2 |80rm | EPRR gy | PN | gmeen | urs | mirmeim | SO0 | g | nvoeour | s | SOOUE | igiesiem | norour | mpme | LCOUUE | g | norour | s
- ) = ISR B (A) (B) (EC50) &) (NOEC) (GERISME) (EC50) &) (NOEC) (ERISME) (LC50) &) (NOEC) (ERISME)
28(106-49-0 155 p—hILAPY B TV 2 5 - oS 0.0011 00111 10 239 312 3.12 0.12 00111 00111 118 0.598 0.598
29|75-00-3 10 sanT4y £ 3 oS - oS 0.094 9.4 100] 118 9.4 0.94 58 58 2250 225
30|78-87-5 12 1, 2—s4ynn7ossy E 3 5 - 5 0.096 0.96 10 123 7.95 7.95 295 0.96 0.96| 127 6 6|
31|106-88-7 21 1, 2—IRFITHY B 3 Ea E A 0.069 69.8 1000| 500(> 25 69.8 0.698
32|57-55-6 106 JRELYS)a—)L B 5 2 2 oS 20 1000 50) 24200 1000 200) 43500 1000 200 51400 514
33[111-90-0 110 2—(2—IFELIREL)TH/—L |B 5 3 3 s p= 1>= 100 100 147 >= 100[>= 10 1982 198 ca 11775|ca 118 EE;QE?;
43
34/109-86-4 23 IFLUHYI—LE/AFILI—TIL (B 5 5 5 oS 15 14977 1000 25500 8900 1780 27000 > 922> 18.4 14977 150
35(109-59-1 24 2—(1—AFILIrEL)TH/—L |8 5 oS - oS 1.9 98 50 1000 1000 200> 970 98 19.6[> 100> 1
36(111-76-2 109 2—JrFoTH/—IL B 5t 3 4 oS 26 130 50 1000 130 26[> 1000 > 100{> 20[> 100{> 1
37[109-99-9 135 FhSERRTSY B 5 4 4 5 2.1 216 100 3485 34.9 2160 216 21.6|
*1 EREMEM DT —8%:&RL -,
(%)
10|95-48-7 156 o—yLY—)L B 2 - - - 0.0070 7 1000) 65 6.5 95 0.95 7 0.07
10|108-39-4 156 m—oLY—)L B 1 - - - 0.00038 388 10000 3.88 0.00388
10|106-44-5 156 p—ILY—IL B 2 - - - 0010 0.52 50) 52.3 95 1.9) 7 0.52 0.104 14 0.14
10[1319-77-3 156 gLJ—IL B 1 - - - 0.0010 10 10000 10 0.010
(FLF)
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AREEICHIIBEENE (R) BEFAHRBATELEME
2. ER22~25FFICHEERISRADFSETo>-ME
IRIEEE O - “ I, £ E};FH; RHL = (me/L) SOV OF(me/L) AFE(meg/D)
= | =182 | IH3Ei BL | EHRAT " = .y M | o | EORE PNEC(mg/L) = EC50/UFs o = EC50/UFs . = LC50/UFs o
No | CAS&ES s o =5 = k=g SR | BAF | TIVE = BORE| T2 BEE £ /MBE(mg/L) UFs REHME BIEHMENE | NOEC/UF | RMHEE BHEMME | NOEC/UF || RMHHEE 1@EHMENE | NOEC/UF
%‘%% LE&S | &% |REES 972 17552 é;?g W /(B) B! ) (EC50) (ACR;‘%%EH” (NOEC) | GERist®) (EC50) (ACR}"gFﬂ” (NOEC) | (F&RisHi®) (LC50) (ACR;‘%%EH” (NOEC) | (Emishi)
1 23 52 o—vynaRvEY B 2 4 - h 0.002 0.1 50) 6.9 1.8 0.36 1.4 0.1 0.02 38 0.038
2 88 55 m—JIZLUUTFIY & FIVE 2 4 - & 0.004 0.2 50 30 10 2 2 0.2 0.04 100 1
3 64 56 0o—J7IZLUUTIY -3 TIVE 2 5 - h 0.0016 0.083 50) 0.82 0.37 0.074 1.4 0.083 0.0166 46 0.046
4 173 40 FARE & 3 4 - th 0.036 18 50 100 32 6.4 9 18 0.36 110 1.1
5(108-94-1 131 P2=ta B 3 4 4 h 0.052 527 10000 800 8 527 0.527
6[{102-71-6 108 M)TH/—LTIY & TIVE 4 2 - th 0.16 16 100 512 256 1390 16 1.6 11800 118
7|64-18-6 17 XEE B 4 5 5 & 0.12 6.25 50) 30.2 6.25 1.25 32.19 >= 100(>= 20|
4,4 —2F72/—38,3 —oynnd
8 76 73 TIZ) AU (BB, 4 —AFLY |# TIVE 1 5 - 5 0.00019 0.0095 50 0.85 0.54 0.108 0.92 0.0095 0.0019 0.61 0.0061
EX(2—/RA7=YY))
9(3926-62-3 95 E/VOLEREE—4 B 4 A o+ A 0.42 427 1000 427 427
1067-56-1 90 AR)=)L B ELS 1 1 s 11 11850 1000(#5 220004 1100 > 10000(> 1000 11850 119
11[108-24-7 93 OKERES B Ea 5 5 E 32 3200 1000 3200 32
12|107-21-1 105 IFLYFYa—L B Fas 2 2 s P 200> 100 50/> 1000 > 1000> 200[)> 1100 > 100> 20[> 100> 1
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